BID ENDORSEMENT

The undersigned, in submitting this bid proposal and their endorsement of same, represents that they are authorized to obligate their firm, that they have read this entire bid proposal package, is aware of the covenants contained herein and will abide by and adhere to the expressed requirements.

Submittals will be considered as being responsive only if entire Bid Package plus any/all attachments is returned with all blanks filled in.

SUBMITTED BY:
LAWN STAR LANDSCAPE
(OFFICIAL Firm Name)
By:
Jeff Rice
(Typed or Printed Name)
Owner 8/19/6
(Title) (Date)
Remittance Address: 1921 San Carlos Allen TX 75002 (Zip Code)
Phone #: (2197 917 113 6
Fax#: (_) N/A E-Mail Address: jeff_rice @ slocglobal.net
E-Mail Address: jeff_rice @ skglobal.net
If an addendum is issued for this bid, please acknowledge receipt.
ADDENDUMS/AMENDMENTS: 1) date acknowledged 2) date acknowledged 3) date acknowledged

PRICING FORM

A. U:	S75 Maintenance		
Location	Est Annual Visits	Price Per Visit	Extended Price
US75 Overpass / Underpass	26	160	4160
US75 Exchange Turnarounds& R.O.W.	26	80	2080
Complete Price after construction			
US75 R.O.W.	26	350	9100
B. City V	Vide / Regional Parks		
Location	Est Annual Visits	Price Per Visit	Extended Price
Allen Station Historic Dam Greenbelt	52	4.6	239.2
Allen Station Park	260	30	7800
Allen Station Park Ballfields and Perimeter	312	10.75	3354
Don Rodenbaugh Natatorium	312	7.5	2340
The Edge @ Allen Station Park	364	12.3	4477.2
Allen Senior Recreation Center and Heritage Village	156	11.5	1794
	ommunity Parks		
Location	Est Annual Visits	Price Per Visit	Extended Price
Bethany Lakes Park & North Channel	364	34.8	12667.2
Celebration Park	364	83.9	30539.6
Ford Park East	364	21.95	7989.8
Ford Park West, Dog Park, Pool and Parking lot	260	26	6760
	ighborhood Parks		
Location	Est Annual Visits	Price Per Visit	Extended Price
Allenwood Park	104	5.9	613.6
Bethany Ridge Park	104	6.4	665.6
Bradford Crossing Park	104	5.9	613.6
Cottonwood Bend Park	104	6.7	696.8
Country Meadows Park	104	9.1	946.4
Dayspring Nature Preserve	104	3.9	405.6
Dayspring Nature Preserve "Baptist Encampment"	156	8	1248
Fox Hollow Property	52	5.9	306.8
Glendover Park	104	10.75	1118
	104	6.7	696.8
Green Park			
Green Park Lost Creek Park	104	6.7	696.8

Location	Est Annual Visits	Price Per Visit	Extended Price
Orchards Park	52	4.8	249.6
Quail Run Park	260	7.65	1989
Reed Park	260	9.95	2587
Spring Meadow Park	104	6.5	676
D. Neighbor	hood Parks Continued		
Location	Est Annual Visits	Price Per Visit	Extended Price
Stacy Ridge park	104	10.7	1112.8
Story Park	104	10.7	1112.8
Suncreek Park	156	13.95	2176.2
Twin Creeks Park	104	9.65	1003.6
Waterford Park	104	4.8	499.2
Watters Crossing Park	104	9.1	946.4
	anced Greenbelts		
Location	Est Annual Visits	Price Per Visit	Extended Price
Bridgewater Crossing Greenbelt Park	52	12.55	652.6
Cumberland Crossing Park	104	8	832
Greenville Heights Park	52	7.2	374.4
Heritage Park	52	4.3	223.6
Shadow Lakes Park	52	8.3	431.6
The Woods Natural Area	52	5.9	306.8
F.	Pocket Parks		
Location	Est Annual Visits	Price Per Visit	Extended Price
Hillside Play Area	52	3.2	166.4
Rolling Hills Park	52	3.2	166.4
Walden Park	52	3.2	166.4
G. St	oecial Use Parks		
Location	Est Annual Visits	Price Per Visit	Extended Price
Allen Cemetery	52	14.6	759.2
Bolin Park	260	11.5	2990
Hillside Wellness Park	260	9.9	2574
Jupiter Ballfields	260	9.1	2366
H. Right of Wa	ys / Medians / Easeme	nts	
Location	Est Annual Visits	Price Per Visit	Extended Price
Allen Heights	104	34.85	3624.4
Allen Drive / St. Mary's Drive	52	10.7	556.4
Alma Road Medians (North of Exch.)	52	14.5	754
Alma Road Medians (South of McDermott)	52	7.5	390
Angel Parkway	52	17.15	891.8
Bethany Road East of US 75	104	42.35	4404.4

Bethany Rd West of US 75	52	15	78
Burnside R.O.W.	52	5.9	306.
Cedar Dr	52	4.3	223.
	Medians / Easements C	ontinued	
Location	Est Annual Visits	Price Per Visit	Extended Price
Chaparral Rd	52	5.9	306.
Custer Road R.O.W.	52	3.75	19
Exchange East Medians and R.O.W.	104	38.05	3957.
Exchange West Medians and R.O.W.	52	23.6	1227.
Fountain Gate Dr	104	4.3	447.
Greenville Ave	104	31.6	3286.
Hedgecoxe Median and R.O.W.	104	18.75	195
Jupiter Road	52	7.5	39
Main Street (East of Greenville)	104	12.3	1279.
Main Street Downtown	52	4.3	223.
Malone R.O.W.	52	5.9	306.
McDermott Drive	104	35.9	3733.
McDermott R.O.W.	52	10.7	556.
Park Place Drive	52	4.3	223.
Post Oak	52	3.75	19
Ridgeview Median	52	15.55	808.
Stacy Medians	52	18.75	97
Watters Road Cluster	52	26.8	1393.
Small Medians and Entries	52	3.2	166.
	unicipal Buildings		
Location	Est Annual Visits	Price Per Visit	Extended Price
Municipal Complex	260	8.3	215
Allen Heritage Center	104	3.05	317.
Library	260	9.4	244
Recreation Hall	104	4.5	46
Animal Shelter	52	3.5	18
J. Undevelope	d Properties - Alternate	Sites	
Location	Est Annual Visits	Price Per Visit	Extended Pric
Estevie Property	52	41.4	2152.
Spirit Park	364	40	1456
Molson Farm - R.O.W.	52	3.65	189.
Raintree Park	52	5.7	296.
Location	Est Annual Visits	Price Per Visit	Extended Pric
Central Business District (CBD)	52	7.5	39
Windridge Property	52	3	15

Bethany/Allen Heights Creek	52	7.5	390
Summerfield/Greenbelt area	52	7.5	390
Far East Exchange Drainage area	52	7.5	390

Alternate Service Items			
Location	Est Annual Visits	Price Per Visit	
Future Recycling at Watters Branch Property		5	1820
Allen USA Celebration Litter Control		2500	2500

Athletic Tournaments -Sites will be visited an additional two times a day, in conjunction with the normal daily visit. Visits will be evenly dispersed during the operating hours of the tournament with the first visit being scheduled prior to the start of the tournament for that day.

Location	Est Annual Visits	Price Per Visit	Extended Price
Allen Station Park –			
Softball Facility	46	20	920
(4) Youth Softball Fields			
Allen Station Park – Baseball Facility	30	20	600
(5) Youth Baseball Fields	30	20	000
Celebration Park –			
Baseball Facility	30	20	600
(4) Youth Baseball Fields			
Celebration Park –			
Soccer Facility	30	30	900
(15) Youth Soccer Fields			
Ford Park East – Softball Facility (3) Adult Softball fields	30	20	600
Bolin Park – Baseball Facility	30	20	600
(2) Youth Baseball Fields			
Bolin Park –			
Soccer Facility	30	20	600
(2) Youth Soccer Fields			

TOTAL EXTENDED PRICE FOR US75 LOCATIONS, ALL SITES A-I:

\$165,490

TOTAL EXTENDED PRICE FOR US75 LOCATIONS, ALL SITES A-J, AND ALTERNATE SERVICE ITEMS:

\$193,545

TOTAL EXTENDED PRICE FOR US75 LOCATIONS, ALL SITES A-I:

\$165,490

TOTAL EXTENDED PRICE FOR US75 LOCATIONS, ALL SITES A-J, AND ALTERNATE SERVICE ITEMS:

\$193,545